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39- Wasit hard for Ali........ the questions?

1) answering  2)to answer 3) answer 4) answers
40- | want to buy a shirt ........

1) my 2) mine 3) for myself 4) our selves
41- We must get someone............. care of the baby whilewe're
out.

1) took 2) to take 3) take 4) taken

42-Hadi haswon a bronz medal. It'sour duty to...... him as
soon as possible.

1)disappoint

2) calculate

3) destroy

4) congratulate
43- After thefire, nothing...... of the house.

1) stayed 2) waited 3) remained 4) stopped
44- They didn’t accept his...... for the accident.
1) existence 2) explanation 3) guidance 4) migration

45- Some people believein the...... of life on the moon.
1) guidance
2) migration
3) existence
4) explanation
46-Which word has a different vowel sound?

1) hope 2) coat 3) road 4) round
47- Ali’'s shoeswere dirty, so he.......... them out side.
1) stayed 2) bought 3) sold 4) left

48- The moon goes around the earth and both of them go
around the sun. This sentence meansthat ...........

1) the sun goes ground the eath.

2) the earth goes around the moon.

3) the earth goes around the sun.

4) the sun goes around the moon.

Comprehension
Read the following passage and choose a, b, ¢ or d which best
compl etes each item.

All the useful energy at the surface of the Earth comes from the
activity of the sun. The sun heats and feeds mankind. Each year it
provides men with two hundred million tons of grain and nearly
ten million tons of wood.

Coal, Qil natural gas, and all other fuels are the energy is stored
from the energy is stored from the sun, some energy was collected
by the season’s plants as carbon compounds. Some was stored by
plants and trees many years ago.

We can even take water power from the sun. Water is turned into
vapour by the sun and then falls asrain. It flows down the
mountains and is changed in to electric power.

Light carries only the energy that comes from the sun’s outer layers
and much of this energy that is directed toward the earth never
arrives. About nine - tenth of it is absorbed by the atmosphere of
the Earth. In fact, the Earth itself gets only one half billion of the
sun’s entire output of the energy in the form of light waves.

49-For mankind, the sun isthe source of.....

1) wave 2) solar activity

3) heat and food 4) atmosphere
50- All the useful energy at the surface of the Earth

1) from energy stored by the sun
2) from the light waves of the sun
3) directly from the sun

4) from the sun’s activity
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